[bookmark: _GoBack]Examples of Concepts in Module 3: Fifth Grade
Tape Diagrams
Tape Diagrams are drawings that look like a segment of tape, used to illustrate number relationships. Your child might be more familiar with the term “bar model”, which is just another name for the same diagram.  The tape diagram is used to help children visualize a problem and determine problem solving steps.  They are especially helpful when solving multi-step word problems. After drawing the tape model, students are able to determine the correct algorithm(s) to use to find the answer.
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Area Model
The area model for multiplication is a pictorial way of representing multiplication. In the area model, the length and width of a rectangle represent factors, and the area of the rectangle represents their product. It can be used for both whole numbers and decimals, as shown in the examples below.

                          Whole Number Example                                                                     Decimal Example
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Fraction Squares
Fraction squares help students when learning fraction equivalency by connecting words, to numbers, to pictures. 
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Adding and Subtracting Fractions with the Rectangle Model
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T Asyou did In fourth grade, take about Z minutes to
make paper strips to also show thirds, fourths, and
fifths.

T: (After about 3 minutes to make the
paper strips.) Draw a number line that is
a little longer than your paper strip. Use &
your strip as a ruler to mark zero and 1 ,07:

o]

above the line, g,%,% below the line.

T: (After doing so.) Make about an inch by
inch square beneath your line. This is

<l

<
SN
-

W

N

—_—

representing the same 1 whole as the 1// ‘/
number line. For today, show half by - /\ | LA ,J 1 2N
vertically dividing the square. Shade 1 . | Xz 1X3 TG
half on the left. z i == -
X R X2 %3 gy
T: (After discussion.) Draw another square = = 2
to the right of that one. Shade it in the - = = = i
same way to represent /. Y4 6 }
T: Partition it horizontally across the
middle. NOTES ON
12
S:

or=. AND STUDENTS
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Problem 4

Explain to your partner the difference in solving a

problem when there is a non-unit fraction such as 2/3 o
rather than 1/3. z

Problem 5
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4 eighths + 2 eighths = 6 eighths.

We can make larger units within 6/8. Tell your partner how you might do that.

“Two can be divided into 6 and 8. 6+2=3and 8 +2=4. 3/4.” = “We can make larger units of 2 each.
3 twos out of 4 twos. That’s 3 out of 4 or 3 fourths.” = “6/8 is partitioned into 6 out of 8 smaller units.
It can be made into 3 out of 4 larger, equal pieces by grouping in 2’s.”

1 1 4 2 6 3
o=y S=—=Z
2 4 8 8 8 4
1 half + 1 fourth = 4 eighths + 2 eighths = 6 eighths = 3 fourths

Problem 2 \
Il ati
3 3

In problem 2 you can have students fold a paper again to transition into drawing, or start directly with drawing.
This is a simple problem involving two unit fractions, like problem 1. The primary purpose is to reinforce
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Problem 4

Explain to your partner the difference in solving a

problem when there is a non-unit fraction such as 2/3 o
rather than 1/3. z

Problem 5
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Application Problem (10 minutes)

A farmer uses 3/4 of his field to plant corn, 1/6 of his field to
plant beans, and the rest to plant wheat. What fraction of his

crop is used for wheat?

You might at times simply remind the students of their RDW
process in order to solve a problem independently.What is
desired is that students will internalize the simple set of
questions as well as the systematic approach of read, draw,

write an equation and write a statement:

*= Whatdolsee?

®=  Whatcan | draw?

= What conclusions can | make from my drawing?
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Application Problem (10 minutes)

A farmer uses 3/4 of his field to plant corn, 1/6 of his field to
plant beans, and the rest to plant wheat. What fraction of his
crop is used for wheat?

You might at times simply remind the students of their RDW
process in order to solve a problem independently.What is
desired is that students will internalize the simple set of
questions as well as the systematic approach of read, draw,
write an equation and write a statement:

*= Whatdolsee?
®=  Whatcan | draw?

= What conclusions can | make from my drawing?
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T: (Post completed algorithm on board, for
students to check.) Be sure you are recording
your regrouped units correctly.

S:  (Check.)

Repeat for the second problem with partners switching
roles.

Problem Set (10 minutes)

Students should do their personal best to complete the
Problem Set within the allotted 10 minutes. For some
classes, it may be appropriate to modify the assignment
by specifying which problems they work on first. Some
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